Year	Name of the Social Security Scheme/ benefit	The scheme/ benefit given under which clause of Section 22 of BOCW Act	Eligibility criteria for getting benefit under above mentioned scheme/ benefit	Quantum and frequency of benefit – Cash or kind	Benefits disbursed in kind (please specify)	Number of beneficiaries in last 3 years	Amount spent on this scheme during the last three years – Year-wise	Whether any amount of cess fund has been used for any purpose other than mandated under BoCW Act, if so the reasons therefore.
2015-16	Financial assistance for education	Clause (e) of Sub-section (1) of Section 22 of BOCW Act	Scheme for Pre & Post matric Scholarship to 2 nos. children of the beneficiaries are available for studies from Class V &above.	Cash @5600 *9=50400 @7000*6=42000 @11200*2=22400	N.A	17 (children of beneficiaries)	`1,14,800.00	No
	Death Benefit	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim death benefit in case of death of beneficiary.	Cash @ 15,000 * 2	N.A	2	`30,000.00	No
	Funeral Assistance	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim funeral assistance for bearing funeral expenses.	Cash @ `1,000 * 1	N.A	1	`1000.00	No
	Maternity benefit	Clause (g) of Sub-section (1) of Section 22 of BOCW Act	Given to woman beneficiary during the period of maternity.	Cash @ `1,000 * 2	N.A	2	`2,000.00	No
	AamAdmiBimaYojana	Clause (d) of Sub-section (1) of Section 22 of BOCW Act	Given to beneficiary between the ages of 18 to 59 years.	Cash @`100 * 641nos. = `64,100 (newly registered)	N.A	641 (newly registered) 1654 (renewal)	`2,29,500.00	No

				@`100 * 1654 =				
				`1,65,400.00 (renewal)				
	Personal Protective Equipments(PPEs)	Sub-section (3) of Section 22 of BOCW Act	A member is eligible for this scheme after completion of 1 year membership	Kind @ `2519 * 1400 nos.	Yes Industrial Safety Helmet, Industrial Safety Shoes, Insulated Footwear (Electrical Purposes), Dust Mask, Waterproof Coat with Hat, Safety Goggles & Waterproof Boot	1400	`35,26,560.00	No
2016- 2017	AamAdmiBimaYojana	Clause (d) of Sub-section (1) of Section 22 of BOCW Act	Given to beneficiary between the ages of 18 to 59 years.	Premium @`100 * 2331 nos. = `2,33,100.00 (newly registered) @`100 * 2277 `2,27,700.00 (renewal)	N.A	2331 (newly registered) 2277 (renewal)	`4,60,800.00	No
	Financial assistance for education	Clause (e) of Sub-section (1) of Section 22 of BOCW Act	Scheme for Pre & Post matric Scholarship to 2 nos. children of the beneficiaries are available for studies from Class V &above.	Cash @5600*40=2,24,000 @7000*36=2,52,000 @8400*1=8400 @11200*1=11200	N.A	78 (children of beneficiaries)	`4,95,600.00	

Maternity benefit	Clause (g) of Sub-section (1) of Section 22 of BOCW Act	Given to woman beneficiary during the period of maternity.	Cash @ `1,000 * 1	N.A	1	`1,000.00	No
Funeral Assistance	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim funeral assistance for bearing funeral expenses.	Cash @`1,000 * 1	N.A	1	`1000.00	No
Death Benefit	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim death benefit in case of death of beneficiary.	Cash @`15,000 * 1	N.A	1	`15,000.00	No
Medical Assistance	Clause (f) of Sub-section (1) of Section 22 of BOCW Act	Financial assistance to beneficiaries who are hospitalized for 5 or more days due to accident or any disease; also meant for beneficiary who met with accident & put in plaster at residence.	Cash @` 1000 * 3	N.A	3	`3,000.00	No
Marriage Assistance	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	A female beneficiary or 2 children of the beneficiary on completion of 3 years shall be eligible.	Cash @`2,000 * 1	N.A	1	`2,000.00	No
Personal Protective Equipments(PPEs)	Sub-section (3) of Section 22 of BOCW Act	A member is eligible for this scheme after completion of 1 year membership	`2,28,757.00 embossing of PPEs	Yes Industrial Safety Helmet,	1400	` 2,28,757.00	No

					Industrial Safety Shoes, Insulated Footwear (Electrical Purposes), Dust Mask, Waterproof Coat with Hat, Safety Goggles & Waterproof			
					Boot			
2017- 2018 (uptoMar 2018)	Financial assistance for education	Clause (e) of Section 22 of BOCW Act	Scheme for Pre & Post matric Scholarship to 2 nos. children of the beneficiaries are available for studies from Class V & above.	Cash @400*52=20800 @600*118=70800 @5600*371=2077600 @7000*273=1911000 @8400*47=394800 @11200*18=201600	N.A	879 (children of beneficiaries)	`46,76,600.00	No
	Death benefit	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim death benefit in case of death of beneficiary.	Cash @ `15,000 *5=75,000 @ 2,00,000*3=6,00,000.00	N.A	15 Nos.	`15,20,000.00	No
	Funeral Assistance	Clause (h) of Sub-section (1) of Section 22 of BOCW Act	Nominees / dependents of a beneficiary can claim funeral assistance for bearing funeral expenses	Cash @`1,000*5= 5,000.00 @`5,000*3= 15,000.00	N.A	14 Nos.	`42,000.00	No
	Maternity Benefit	Clause (g) of Sub-section 1 of Section 22	Given to woman beneficiary during the period of maternity.	Cash @`1000 *21=21,000	N.A	40	`78,000.00	No

	of BOCW Act		@` 3000*19= 57,000				
PMJJBY/ PMSBY AABY	Clause (d) of Sub-section (1) of Section 22 of BOCW Act Clause (d) of	Given to beneficiary between the ages of 18 to 50 years. Given to	Premium @ 171 * 5784 Premium	N.A N.A	5784 2531	`9,89,064.00 `2,51,000.00	No No
	Sub-section (1) of Section 22 of BOCW Act	beneficiaries in the age group of 51-59 years	@`100*2510			2,51,000.00	
Medical Assistance	Clause (f) of Sub-section (1) of Section 22 of BOCW Act	Financial assistance to beneficiaries who are hospitalized for 5 or more days due to accident or any disease; also meant for beneficiary who met with accident & put in plaster at residence.	Cash @` 200 for the 1 st 5days + ` 100 subject to a maximum of ` 5000	N.A	13	`16,160.00	No
MHIS	Clause (d) of Sub-section (1) of Section 22 of BOCW Act		Premium @406*155	N.A	155nos	`62,930.00	No
Personal Protective Equipments(PPEs)	Sub-section (3) of Section 22 of BOCW Act	A member is eligible for this scheme after completion of 1 year membership	Kind @ `375 * 1400 nos	Yes Insulated rubber gloves (electrical purposes)	1400	` 5,25,000.00	No
Marriage Assistance	Clause (h) of	A female beneficiary or 2 children of the	Cash	N.A	1	5000	

Sub-section (1) ben of Section 22 con of BOCW Act sha	eneficiary on ompletion of 3 years hall be eligible.	@`5,000*1		